

PROPOSALS RESULTS RFP

10-0111R Drug and Alcohol Testing Wednesday, August 4, 2010

Vendor

Alert IT Solutions Inc.

St Mary's Hospital /Safe works Illinois



BID RESULTS IFB

Wednesday, August 18, 2010

10-0002R Mopar-Chrysler-Dodge (OEM) Auto and Truck Replacement Parts

Vendor Name	Total Bid
Jack Phelan Dodge	\$22,880.00



BID RESULTS IFB

10-0096R Carpentry Supplies

Wednesday, August 18, 2010

Vendor: Murphy Ace Hardware					
Bid Line	Total <u>\$ 6,916.29</u>				
Manufacture's Catalog	Total <u>\$5,950.00</u>				
	Grand Total <u>\$12,866.29</u>				



BID RESULTS IFB 10-0139 PCI Compliance Assessment Wednesday, August 18, 2010

1.VENDOR NAME: LEGG Smart						
PROJECT A: DESCRIPTION	QUANTIT	Y	UNIT OF MEA	ASURE	PRICE	
Qualified Security Assessor to perform PCI SSC (Payment Card Industry Security Standards Council) Services	1		LUMP S	SUM		<u>\$29,450.00</u>
Project a bid price <u>\$29,450.00</u>						
PROJECT B DESCRIPTION			UANTITY	UNIT OF I	T OF MEASURE PRICE	
Payment Card Industry Security Standards Data Security Standards (PCI DSS) Remediation Services		40 Hr	Estimated s	Hourly Rate \$ <u>165</u> /Hour		Total Hourly Rate <u>\$ 6,600.00</u>
	PROJECT B HOURLY PRICE \$6,600.00					

2.Vendor Name: Jefferson Wells						
PROJECT A: DESCRIPTION	QUANTITY	Y UNIT OF MEASURE		PRICE		
Qualified Security Assessor to perform PCI SSC (Payment Card Industry Security Standards Council) Services	1	LUMP SUM		<u>\$87,200.00</u>		
	PROJECT A BID PRICE \$87,200.00					
PROJECT B DESCRIPTION		QUANTITY	UNIT OF MEASURE		PRICE	
Payment Card Industry Security Standards Data Security Standards (PCI DSS) Remediation Services		40 Estimated Hrs	Hourly Rate \$ <u>145</u> /Hour		Total Hourly Rate <u>\$5,800.00</u>	
PROJECT B HOURLY PRICE \$5,800.00						

3. Vendor Name: <u>nGuard, Inc.</u>						
PROJECT A: DESCRIPTION	QUANTITY	UNIT OF ME	ASURE	PRICE		
Qualified Security Assessor to perform PCI SSC (Payment Card Industry Security Standards Council) Services	1	LUMP	SUM		<u>\$27,115.00</u>	
PROJECT A BID PRICE \$27,115.00						
PROJECT B DESCRIPTION	(QUANTITY	UNIT OF MEASURE		PRICE	
Payment Card Industry Security Standards Data Security Standards (PCI DSS) Remediation Services		40 Estimated Hrs	Hourly Rate \$ <u>271</u> /Hour		Total Hourly Rate \$10,840.00	
PROJECT B HOURLY PRICE \$10,840.00						

4. VENDOR NAME: <u>COALFIRE SYSTEM INC</u>						
PROJECT A: DESCRIPTION	QUANTITY	UNIT OF ME	ASURE	PRICE		
Qualified Security Assessor to perform PCI SSC (Payment Card Industry Security Standards Council) Services	1	LUMP	LUMP SUM		<u>\$37,050.00</u>	
PROJECT A BID PRICE <u>\$37,050.00</u>						
PROJECT B DESCRIPTION		QUANTITY	UNIT OF MEASURE		PRICE	
Payment Card Industry Security Standards Data Security Standards (PCI DSS) Remediation Services		40 Estimated Hrs	Hourly Rate \$ <u>195</u> /Hour		Total Hourly Rate <u>\$7800.00</u>	
PROJECT B HOURLY PRICE <u>\$195</u>						

5. VENDOR NAME: UHY Advisdors Tax LLC						
PROJECT A: DESCRIPTION	QUANTITY	UNIT OF ME	ASURE	PRICE		
Qualified Security Assessor to perform PCI SSC (Payment Card Industry Security Standards Council) Services	1	LUMP SUM			<u>\$86,00.00</u>	
Project a bid price \$86,000.00						
PROJECT B DESCRIPTION		QUANTITY	UNIT OF MEASURE		PRICE	
Payment Card Industry Security Standards Data Security Standards (PCI DSS) Remediation Services		40 Estimated Hrs	Hourly Rate \$ <u>170</u> /Hour		Total Hourly Rate \$6,800.00	
PROJECT B HOURLY PRICE \$6,800.00						